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Arwall- clock t&ke's;?9 seconds in 7.
- “tringing at 9 O'clock. The time, it will
-+ take in tringing at 11 Olock, is
*[NOTE]: The wall-clock trings 9
.+ times at’ 9 O” clock and 11 times
‘at 11. Oclock]
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3. The total number ofv integers
between 200 and 400. Each of -
which either begins with 3 or
ends with 3 or both is
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""A:"(a)' 10 (b) 100 1fc)-110-(d) 120 ““aﬁgﬁ& timés will it strike a day ?
YEAR : 2012 H’Rw“ﬁ'eﬁ T e s AR - S
4., “For a certain month, the dates of 2l a@ﬂﬁlﬁﬁ' T%iﬁ?ﬁ IR -7 HIN?
. three of the Sundays are even . Q\l(a) 300 \(b) 156 (c) 5_3' (d) 78
‘numbers Then the 15th of tha‘t & ¢ ‘3\1 . ‘ ‘ i S
c
: mont;gfglls?ﬁ;m A L dmp—— ‘ / 190 &If a machme consumes — kilo-
21 99 39 W I 15 0@ w0 ﬁ:-l'&‘)f'"? ‘); watts of power evéry t hours. How
(2) Thursday - (b) Fnday(“‘ . much power in kilo-watts, will

_,(e)/Saturday (d) Sungay Ry
5. A wall clock gains 2" mmu
12 hours, while a table ciock loses
2 tinutes. every 36 Qhoq?:s SBoth are
_ set right at 12 ngor 1, of/ Tusesday.
The correct tune. g§z§rheﬁ both show
the sam%\tlm “hextwould be
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(). 12,30 "at night, after 130 days .

\l(p)"’lQ noon, -after 135 days

How many students play E
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Uk extremlty moves in 18 seconds 1S

(c) 1. 30 at nlght after 130 days
@2 mldnlght “after 135 days

 From 9.00-AM to 2.00 PM, the

from 21° € to- 36°C What ‘was “the

~ temperature at noon ?-
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¥ AUEA 21°C W 36°C 9G W ¥ AR
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{a) 27° C {b) 30° C

(¢) 32°C (d) 28.5°C

The -length of a minute hand of a
clock is_7cm. The area sweépt by
the minute hand in 30 minutes is?
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(a) Qloﬁq cm  (b) 154 sq. cm
\[(cLs T sq. em (d) 147 sq. cm
The minute hand of a big wall
clock
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If a cl{)gfi\ Strikes approprlate
nymber‘fof hmes at each ‘hour, how

three such machines consume in
10 hours?
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1 walk a certain distance and ride

back taking a total time of 37 -

minutes. 1 could walk both ways
in 55 mintues. How long would it
take me to ride both ways?

t‘ \.

temperature rose ‘at a constant rafe”

is 35 em long Takm o

12.

"(a) 30 miﬁﬁtes

s@lf the Universal Set

9 mmutes
“(d) 20 rmnutes
YEAR : 2014 ’ :
If the number: o1tems of a set A

{c) 37 minutes

be n(A) —@40\ n(B)--
then n(AuB)

%' aﬁmwm%‘ ﬁ
= 26 TAq n(AnB).

(b) 40 {fef'50 (d) 60

= (1,2,3,4,5,6,7,8) and
A— (1,2,3,4); then A°® is equal to .

IR wEdEE e U = (1, 2, 3, 4, 5,
6,7 8 @ A=(1, 2 3,4), @ AW
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15,

L (b)_‘ 2. @ |8 (o |4 (@
5. 0|6 M |7 |8 ®
9. ()] 10. (¢ | 11. () | 12. (¢)
13. @ | 14. (0 | 15. (d) B

(b) (5,6,1,2)

(© (5,6,2,3) (d) (5,6,3,4)

A piece of cloth measured with a,_,
metre stick, one cm short, is 100. .

metres long. Reckoning the metre

sticks as being right, the actual ;\.

length of the cloth (in cm) is

26 and ’ :
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(a) 3,900 \_th)-'g,goo
" () 8,000 (d) 6,100

A man- Having height 169 ¢m is
standing near a pole. He casts a
shadow 130 cm long. What is the
length of the pole, if it gives a
shadow 420 ¢m long?

s IR e awE 169 cm ®, W

T & TR el g3 T TE ATH RN
130 cm I B @H @@l 9@ B,
afy IWHT BT 420 cm TS B

(a) 550 cm (b) 589 crh .
(c) 323 cm R k‘@ly‘s‘]ﬁ em . ¥
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. -’Total da y§ A P =135 days

- .(12X60) rnmutes

" S0, both ¢lock- w111 shovv correct v

e ,tlme at 12:° 00
. Noon after 135 days &: ?h‘; Ere.'“r 135
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T At 9: 00 AM temper
3 :SO, at 12

21+ (3x3). = 30°C

7 (¢) In 60 min. minute hand covers

(60 fire ¥ firfe 1 gE 7@ & ¥) = 360°

" I 30 min minute hand covers (30
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T ae ! Area () 360° A\\&\ |
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: .10 7 - 360°, A 75 Red
8. () 203, 213, 223, 233, 243, 253, . (b) Radius (BF) (Length of mine | k\)
. 2683, 273, 283, 293, hand (Fre 3% @ 1 ng_\gs chd 15
= Total 10 In 1 hr (3600 sec.) min. hand covers -
7300 to 399 omr e b
' = Total no of integers (YUl #Ht @ Ih 1 second minﬁ{é?l}, % '\ % covers
'_,m) 100 onr L Y :13,
~ Total no of integers (Uil I ~ 3600 v ;’
LooEen) = 10+100 = 110 - .In 18 seconds?m jn tes. hand
40 (e) It s p0331b1e when there are 5 m
. .21;r Ny 22»«35 : ,
' - sundays in the month starting from et \‘m x18 = 1.1 cm
2 of that month. In that case of 3 3600 K 3600’ k
“‘even dates will be sunday on 2, 9, 9. (b]m’Ijotakl num\”}ber of tlme it strike
16, 23, 30. So 15 will be saturday % }? 2\1 + 2. +oni 14.
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5. (b) A wall clock gains(in 12 houlgs Y f%z\ ‘12 x(12 +1) :
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) WEd).—2 min ﬁ@ ¢ o ,
3 A (c) In ? hours a machine consume
‘A wall clock gains(in 36 hours) (Eflalﬂ/ : S K :
: H@%msﬁa%ﬁmﬂs‘m): 6.mi (52 ¥ T ) T —
: ‘r' “A table clock loses (in §E o5 ‘
‘\:{7 o 86w ‘F{ @‘ﬂ)—)‘ p min In 1 hours a machine consume (&
O s ‘
N d - K
\ ; Total 1fferenco. (1n 6‘}30\1rs)—> 8 min w2 mei 9 @) —
N (‘x9@'@ lxgo 5t
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2N ‘fTLme taken in riding both Ways?

2z

%Kl‘kmg and r1d 13
back (T mﬁm Eh
M w)\ 37 min
Tim&taken in riding on one way‘

(T ’“@ﬁm@mmﬁWW)
—x3)7—27 .5 = 9.5 minutes

(ﬁﬁﬁﬁﬂmmﬁm%)‘

= 9.5x2 = 19 min

(@ n(4uB)= nA)+n(B)—n(AnB)
= 40+26-16
=50 ‘ » _ v
(@) U = (1,2,3,4,5,6,7,8)

A = (1,2,3,4)

Ac =
Ac= U-A

(1,2,3,4,5,6,7,8) —(1234)
(5,6,7,8)

x: el and ’kef“A’

‘Il

I

(b) 1 metre’s actual length is 99 cm v
(T AR Al qwE 99 cm )

100 metres actual length is 100 x 99
(100 Hix 1 SrRferF @) = 9900 cm
(d) If the shadow is 130 ém the
actual height is 169 cm(?ﬁ;f{ BRI
130 cm © T o wd 169 cm®)
If the shadow is 1 cm the actual i

169 e
height is 130 (AR B Iem g

169
mmm' —
130" L e
If the shadow is 420 cm the actual b
he1ght is (A B 420 cm © ﬁ?
EliiCED wTg )
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= ——x420
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A' Qﬁﬁy'ﬂrgak = R

. KT PR T N i
o : :
® 8 b;‘“ﬁ » oo PR

o f . a

2 L} V\% Ty &
. NN a
¥ d 2.9

0

/

Scanned by CamScanner



